1. Substitution 1
Copy and Complete the following table:

A few have been done for you:

	a
	1
	9
	2
	8
	3
	7
	4

	a+1
	2
	
	
	9
	
	
	

	a+2 
	
	11
	
	
	
	
	

	2a
	
	
	4
	
	
	
	

	3a
	
	
	6
	
	
	
	

	10a
	
	
	20
	
	
	
	

	a-1
	0
	
	1
	
	
	
	

	a-2
	-1
	7
	
	
	
	
	

	2a
	
	
	
	
	
	
	

	a+100
	
	
	
	
	
	
	

	100+a
	
	
	
	
	
	
	


Take care to copy the table exactly as you see it with the numbers in the same order!

2. Substitution 2
Carry out the following sums but putting in the following numbers in the place of letters:
a = 5, b = 4, c = 1 and d = 10
Copy the questions and write down the answers. The first one has been done for you.
	1.) a + 10 = 15
2.) a + 1 =

3.) b + 2 =
4.) 5 + a =
5.) a - b = 
6.) b + d =
7.) a + d =
8.) d + a =
9.) a + d + 6 =
10.) d – 9  =
	11.) 2a =
12.) b + c + 2 =
13.) 5a =
14.) 3 + b =
15.) a - c =
16.) d - c =
17.) a + b + c + d =
18.) d ÷ 2 =
19.) d + d =
20.) 2d =  


3. Substitution 3
x = 5, y = 2 and z = 3
These are like the ones before but are cleverer!
Example:

    2x    + 1 =

(2 × 5) + 1 = 

    10   + 1 = 11
Copy the questions and write down the answers:

	1.) 2y + 1 =

2.) 2z + 1 =

3.) 2x - 1 =

4.) 3y + 2 =

5.) 4z + x = 


	6.) 3x + y =

7.) 10y - x =

8.) 10 + 2z =

9.) x + 2z =

10.) 10y – 2x =




4. Advanced Substitution
Copy out and link the bits of algebra that are the same (give the same answer). Use the following numbers: p = 4, q = 2 and r = 5.
	p + p =

r + r + r =

2p + q =

2r + r + r =

2q + 2p =

p + p + 1 = 


	2p + 1 =

p + p + q =

4r =

p + p + q + q =

3r = 

2p =


5. Substitution 5
x = 3, y = 10 and z = 2
These are like the ones before but include brackets.

Example:

    3(x+1) =

3 × (3+1) = 

    3 × 4 = 12
Copy the questions and write down the answers:

	1.) 2(z + 2) =

2.) 4(y – 5) =

3.) 5(x + z) =

4.) 3(y – x) =

5.) 10(8 + x) = 


	6.) x(z + 3) =

7.) y(x – 2) =

8.) z(10 – x) =

9.) y(x – 3) =

10.) x(y + z) =




6. Substitution 6
a = 4, b = -5 and c = -2
These are like the ones before but include brackets and negative numbers.

Example:

    3(c+1) =

3 × (-2+1) = 

    3 × -2 = -6
Copy the questions and write down the answers:

	1.) 2(a + 2) =

2.) 4(a – 5) =

3.) 5(a + b) =

4.) 3(a – b) =

5.) 10(8 + c) = 


	6.) a(b + 3) =

7.) c(a – 2) =

8.) b(10 – c) =

9.) 2b(c – 3) =

10.) 3a(b + c) =




7. Substitution 7
x = 2, y = 9 and z = 7
These questions use two sets of brackets!
Example:

    (x + 3)(y + 1) =

(2 + 3) × (3 + 1) = 

    5 × 4 = 20
Copy the questions and write down the answers:

	1.) (x + 1)(z + 2) =

2.) (z - 1)(y – 5) =

3.) (x + 2)(x + z) =

4.) (y – x)(z – 3) =

5.) (8 + x)(y + z) = 


	6.) (z + 3)(y + 1) =

7.) (x + y)(x – z) =

8.) (10 – x)(3y – 5) =

9.) (3x + y)(2x – 3) =

10.) xy(2x + z) =




8. Substitution 8
a = 5, b = 4 and c = 3
These are the answers... what were the questions?
	1.) 1
2.) 2
3.) 15
4.) 12
5.) 20 


	6.) 50
7.) 100
8.) 400
9.) -1
10.) -20



